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SM2H Geometry Review

1. What is the standard equation of a circle?
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Write the equation for the following circles.

2. centér (6,-2) 3. center (=5,0) 4. center (-1,1)
radius 4 radius 2 radius Jg

(o (2=l (=Y = (e)a(yp*= 5

Complete the square to identify the center and radius of the circle.
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8. How are inscribed angles related to their intercepted arcs?
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9. What is the relationship between the opposite angles of an inscribed quadrilateral?
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Find the measure of the indicated arc or angle.
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19. What is the formula used to find arc length?
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Find the length of each described arc. Leave your answers in terms of 7.
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24. What is the formula used to find the area of a sector?
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Find the area of each described or shaded sector. Leave your answers in terms of 7.
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Use similar triangles to solve the following problems. Round your answers to the nearest
tenth.

29. A 5-ft tall person casts a shadow that is 12-ft long. A nearby tree casts a shadow that is 30-ft
long. How tall is the tree? /ﬂ ‘,x
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30. A building casts a 103-foot shadow at the same time that a 32-foot flagpole casts as 34.5-foot
shadow. How tall is the building? Y e
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Find the missing length indicated.
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Solve for x. Show your work!
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37. Given a segment with endpoints A(-8,3) and B(12,3), find the coordinates of point C between A

3

and B so that the ratio %% = Plot the points to help solve the problem.
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38. Given a segment with endpoints A(2,6) and B(2,-4), find the coordinates of point C between A

and B so that the ratio 20 % Plot the points to help solve the problem.
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39. Find sin6, cos@, and tan6. Give answers as 81mp11f1ed fractions.
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Find the value of the trigonoTtpic—iunction indicated, given the following information.

40. If sin8=i,whatis cos@? 177 {41 1f tanffs‘—i what is sin@?
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42. If cos(60°)=5, find sin(30°).
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43. If sin(60°) = o find cos(30°).
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44. A person is 75 feet from the base of a barn. The angle formed from the person to the top of the
barn is 60°. How tall is the barn?
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45. As itleans against a building, a 9-meter ladder makes an angle of 55° with the ground.

a. How far is the bottom of the ladder from the base of the building?
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b. How far up the building does the ladder reach?
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46. A 15-foot-long ladder is propped against a building. The top of the ladder touches the building
at a point that is 13 feet above the ground. What angle does the ladder make with the ground?




